Following the minutes for 03/06/02 WDISC SERB meeting, the NCCDS scheduling will use the following scheme to determine the desktop for the PTP event:

· If the forward and return data streams are paired in the request, the scheduling will use the forward service initial data rate to determine the desktops for all the corresponding forward and return data streams.
· If the forward data stream is not paired with any return data stream in the request, the scheduling will use its initial data rate to determine the forward only desktop. 
· If the return data stream is not paired with any forward data stream in the request, the scheduling will use the return only desktop. 
The following are examples of this scheme:

Table 1  Desktop Mapping

Supiden
Uifc(port id)
Paired
DataRate*
PortNumber
DesktopId

A1234WD
W30(J)
Yes
d1
4000
EEEEE1L.dpt

A1234WD
W30(J)
Yes
d2
4000
EEEEE1H.dpt

A1234WD
W55(P)
Yes
d1
4000
EEEEE1L.dpt

A1234WD
W55(P)
Yes
d2
4000
EEEEE1H.dpt

A1234WD
W31(K)
Yes
d1
4001
EEEEE2L.dpt

A1234WD
W31(K)
Yes
d2
4001
EEEEE2H.dpt

A1234WD
W56(Q)
Yes
d1
4001
EEEEE2L.dpt

A1234WD
W56(Q)
Yes
d2
4001
EEEEE2H.dpt

A1234WD
W32(L)
Yes
d1
4002
EEEEE3L.dpt

A1234WD
W32(L)
Yes
d2
4002
EEEEE3H.dpt

A1234WD
W57(R)
Yes
d1
4002
EEEEE3L.dpt

A1234WD
W57(R)
Yes
d2
4002
EEEEE3H.dpt

A1234WD
W30(J)
No
d1
4000
EEEE1LF.dpt

A1234WD
W31(K)
No
d1
4001
EEEE2LF.dpt

A1234WD
W32(L)
No
d1
4002
EEEE3LF.dpt

A1234WD
W30(J)
No
d2
4000
EEEE1HF.dpt

A1234WD
W31(K)
No
d2
4001
EEEE2HF.dpt

A1234WD
W32(L)
No
d2
4002
EEEE3HF.dpt

A1234WD
W55(P)
No

4000
EEEEE1R.dpt

A1234WD
W56(Q)
No

4001
EEEEE2R.dpt

A1234WD
W57(R)
No

4002
EEEEE3R.dpt








* Data Rate referred to the forward initial data rate in the request.  Null data rates are for return-only entries only.

Using the table above, the automatic scheduling will do the following allocation for Supiden A1234WD:

Example 1:  rule e

Service
Start Time
Stop Time
Forward Initial Data Rate
Forward Uifc

(Port Id)
Return Uifc

(Port Id)






I

Channel
Q

Channel

1-forward
t1
t2
d1
W30(J)
 


The corresponding PTP event will be:

Supiden
Start Time
Stop Time
DesktopId
PortNumber

A1234WD
t1
t2
EEEE1LF.dpt
4000

Example 2: rule f

Service No.
Start Time
Stop Time
Forward Initial Data Rate
Forward Uifc

(Port Id)
Return Uifc

(Port Id)






I

Channel
Q

Channel

1-return
t1
t2


W55(P)
W57(R)

2-return
t3
t4
 
 
W56(Q)


The corresponding PTP event will be:

Supiden
Start Time
Stop Time
DesktopId
PortNumber

A1234WD
t1
t2
EEEEE1R.dpt
4000

A1234WD
t3
t4
EEEEE2R.dpt
4001

A1234WD
t1
t2
EEEEE3R.dpt
4002

Example 3: rule g

Service No.
Start Time
Stop Time
Forward Initial Data Rate
Forward Uifc

(Port Id)
Return Uifc

(Port Id)






I

Channel
Q

Channel

1-forward
t1
t2
d2
W30(J)
 


2-return
t3
t4


W56(Q)


The corresponding PTP event will be:

Supiden
Start Time
Stop Time
DesktopId
PortNumber

A1234WD
t1
t2
EEEE1HF.dpt
4000

A1234WD
t3
t4
EEEEE2R.dpt
4001

Example 4: rule h 

Service No.
Start Time
Stop Time
Forward Initial Data Rate
Forward Uifc

(Port Id)
Return Uifc

(Port Id)






I

Channel
Q

Channel

1-forward
t1
t2
d2
W30(J)
 


2-return
t3
t4


W55(P)
W56(Q)

The corresponding PTP event will be:

Supiden
Start Time
Stop Time
DesktopId
PortNumber

A1234WD
t1 if t1< t3

t3 if t1> t3
t2 if t2>t4 

t4 if t2<t4
EEEEE1H.dpt
4000

A1234WD
t3
t4
EEEEE2R.dpt
4001

Example 5: rule i

Service No.
Start Time
Stop Time
Forward Initial Data Rate
Forward Uifc

(Port Id)
Return Uifc

(Port Id)






I

Channel
Q

Channel

1-forward
t1
t2
d1
W30(J)
 


2-forward
t3
t4
d2
W31(K)



3-forward
t5
t6
d2
W32(L)



2-return
t7
t8


W55(P)
W57(R)

The corresponding PTP event will be:

Supiden
Start Time
Stop Time
DesktopId
PortNumber

A1234WD
t1 if t1<t7

t7 if t1>t7
t2 if t2> t8

t8 if t2< t8
EEEEE1L.dpt
4000

A1234WD
t3
t4
EEEE2HF.dpt
4001

A1234WD
t5 if t5<t7

t7 if t5>t7
t6 if t6> t8

t8 if t6< t8
EEEEE3H.dpt
4002

Example 6:

Service No.
Start Time
Stop Time
Forward Initial Data Rate
Forward Uifc

(Port Id)
Return Uifc

(Port Id)






I

Channel
Q

Channel

1-forward
t1
t2
d1
W30(J)
 


2-forward
t3
t4
d2
W31(K)



3-return
t5
t6


W56(Q)


4-return
t7
t8


W55(P)
W57(R)

The corresponding PTP event will be:

Supiden
Start Time
Stop Time
DesktopId
PortNumber

A1234WD
t1 if t1<t7

t7 if t1>t7
t2 if t2> t8

t8 if t2< t8
EEEEE1L.dpt
4000

A1234WD
t3 if t3<t5

t5 if t3>t5
t4 if t4> t6

t6 if t4< t6
EEEEE2H.dpt
4001

A1234WD
t7
t8
EEEEE3R.dpt
4002

